. Geometry (E) Name: tt\/

Perpendicular Homework

2 In each of the following, name the angles that can be proved to
be right angles.
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5 On a graph, point A is at (0, 4). Point A is then rotated 90° " PI' (o’l°>
clackwise about the origin to point A'. What are the coordinates
of A'?
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8 Given: £LMOR = (3x + 7),
LROP = {(4x — 1)°,
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the ratio 1:2:3. Find the measure of each
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10 Given: Diagram as shown

Prove: ZAEB = ZCED D
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Prove: ZABP = Z/CBP
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7 Given: LACB = 90°,
AD 1 BD .
Prove: £C = 4D (Hint: This proof takes A 8
more than three steps.)
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